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61. (D)
62. (C) As, Oxygen is used for burning. Similarly

carbon-di-oxide is used for exting

uishing.

63. (D) Except Medulla, all others are the parts
of eyes.

64. (C)

e  j  o n  st  y  d x  c  h m  r  w

+4 +4
+4 +4
+4 +4

+4
+4
+4

65. (C)

66. (A)
D B A E C

67. (A)

9, 11, 33, 13, 15, 33, 17, , 19 33

+4 +4

+4 +4

68. (A) Q P O, N M L, K J I, H G F, E D C
69. (A) Except bud, all others are floor.
70. (B)
71. (B) Total cost price for Alferd = 4700 + 500

       = `5500

 Profit = 
5800 – 5500

5500
×100 = 5

5

11
%

72. (A) Sixth result = (6 × 49 + 6 × 52)– 11 × 50
           = 606 – 550 = 56

73. (B) Required HCF = 2 × 3 × 3 × 7 = 126
74. (B) ATQ,

–2
a

b

x
 
  

 = 

–7
b

a

x
 
  

–2
a

b

x
 
  

 = 

7–
a

b

x
 
  

x – 2 = 7 – x

 2x = 9

 x = 4.5
75. (B) D      :   H

3×3    1×5

Required ratio = 9 : 5

76. (B) Let the initial price of oranges = `x

Present price of orange = 
75

100

x 
 = 

3

4

x

ATQ,

16 4

3x


–
16

x
 = 4

HSSC MOCK TEST – 132 (SOLUTION)


64 – 48

3

x

x
 = 4

 x = 
16

12
 = `1.33

77. (D) Required age of teacher

= 31 × 10 – 9 × 30 = 40 years

78. (C) Required number

= HCF of (132 – 62), (25  – 132) and (237 – 62)

= HCF of 70, 105 and 175 = 35

79. (B) ATQ,

8 – 
7

7 – – 4 –
2

x
   
     

= 5

 8 – [7 – {x – 
1

2
}] = 5

 8 – [7 – x + 
1

2
] = 5

 8 – [
15

2
– x] = 5

 8 –
15

2
 + x = 5

 x = 5 + 
15

2
– 8 = 

9

2
 = 4.5

80. (D) Let

7

6

21

Pump – 3

Pump + Leak
7

2

Required time = 
21

76
 = 21 hours

91. (B) Remove 'more' from the sentence. Here

adjective 'easier + than' is sufficient for

comparision.

92. (B) Replace 'nor' she did 'with', 'nor did she'.

'Hardly', 'scarcely', 'Neither-nor' etc.

take inverse form of sentence
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Word Meaning in English Meaning in Hindi

Hegemony leadership or dominance usr`Ro

Subordination act of giving someone less importance vgfe;r u nsuk

Renaissance A period of growth and activity iqutkZxj.k dky

Decadence a period of decline iru

Acrophobia fear of heights Å¡pkbZ dk Mj

Xenophobia fear against people of the countries fonsf'k;ksa ls Mj

Clustrophobia fear of confined places ,dkUre;rk

Bale large wrapped or bound bundle of paper xBjh

Cortege a solemn procession pkdjksa dh e.Myh

Posse group of people who have common esyk

 characterstics

Stifle unable to breathe properly ?kqVu

MEANINGS IN ALPHABETICAL ORDER

HSSC MOCK TEST – 132 (ANSWER KEY)

1. (B)

2. (D)

3. (D)

4. (C)

5. (C)

6. (C)

7. (B)

8. (D)

9. (C)

10. (C)

11. (A)

12. (C)

13. (A)

14. (A)

15. (D)

16. (D)

17. (D)

18. (D)

19. (B)

20. (B)

21. (A)

22. (D)

23. (A)

24. (A)

25. (B)

26. (B)

27. (C)

28. (D)

29. (C)

30. (C)

31. (B)

32. (B)

33. (B)

34. (D)

35. (C)

36. (A)

37. (B)

38. (A)

39. (D)

40. (D)

41. (D)

42. (B)

43. (C)

44. (A)

45. (C)

46. (B)

47. (D)

48. (B)

49. (D)

50. (A)

51. (A)

52. (A)

53. (B)

54. (D)

55. (D)

56. (A)

57. (A)

58.  (B)

59. (C)

60. (A, C)

61. (D)

62. (C)

63. (D)

64. (C)

65. (C)

66. (A)

67. (A)

68.  (A)

69. (C)

70. (B)

71. (B)

72. (A)

73. (B)

74. (B)

75. (B)

76. (B)

77. (D)

78. (C)

79. (B)

80. (D)

81. (D)

82. (B)

83. (C)

84. (A)

85. (A)

86. (C)

87. (D)

88. (C)

89. (B)

90. (B)

91. (B)

92. (B)

93. (C)

94. (B)

95. (B)

96. (A)

97. (D)

98. (A)

99. (A)

100. (D)




